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
Note : Attempt all section as derected.



Section - A

)

(Objective / Multiple Choice Questions)



All questions are compulsory of this section, each
question carries 01 mark.



Choose the correct  answer :

P.T.O.
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1.  

(A) 

(B) 

(C)  

(D) 

Public limited company can not issue

(A) Sweat Equity share

(B) Deferred share

(C) Redeemable preference shares

(D) Non-participating preference shares.

2. 

(A) 

(B) 

(C) 

(D) 

When shares are alloted, the account to be credited with
is -

(A) Bank Account

(B) Share application Account

(C) Share allotment Account

(D) Share capital Account
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3. 

(A) 

(B) 

(C) 

(D) 

Can not be used in redemption of preference shares ?
(A) General Reserve
(B) Reserve Fund
(C) Capital Reserve
(D) Employees Compensation Fund

4. 

(A)          


(B)        


(C) 

(D) 


Which of the following statements is false ?
(A) Sinking fund is created only when debentures are

to be redeemed in instalments .
(B) Sinking fund account always shows credit balance.
(C) The purchase of own debentures is an investment

of the company.
(D) Profit on cancellation of own debentures iscapital

profit

P.T.O.
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5. 


(A) 

(B) 

(C)  

(D) 

Which of the following assets will not be included in the
fixed assets ?

(A) Capital  work-in-progress

(B) Intellectual property rights

(C) Investment in preference shares

(D) None of these

6.  

(A) 

(B) 

(C) AB

(D) 

Deferred tax will be shown-

(A) On the assets side of balance sheet

(B) On the Equity and liabilities side of balance sheet

(C) In (A) or (B) above

(D) None of these
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7. 

(A) 

(B) 

(C) 

(D) 

Call-in-arrear is shown-

(A) by deducting from the called-up  capital.

(B) Under the head current liabilities

(C) Under the head current assets

(D) As a contingent liability

8. 


(A) 

(B)  

(C) 

(D) 

Bad debts written off will be shown in the statement of
profit and loss of the company -

(A) In expenses related to operating activities

(B) In finance costs

(C) In extra-ordinary items

(D) In other expenses

P.T.O.
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9. 


(A)  

(B)  

(C) 

(D)   

When purchasing company pays purchase consider-
ation, it will debited to -

(A) Business Purchase Account

(B) Assets Account
(C) (A) or (B) above
(D) Liquidaton of Selling Company's Account

10.           


(A) 

(B)  

(C) 

(D)   

When the expenses of liquidation are to be borne by the
purchasing company then the purchasing company deb-
its:

(A) Liquidation expenses account
(B) Realisation account
(C) Good will account
(D) Vendor's company account.
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11.         

 

(A) 

(B) 

(C) AB

(D) 

To which account the difference between the purchase
consideration and share capital of the transferor com-
pany should be adjusted under the pooling of interests
method:
(A) Good will Account

(B) Capital Reserve Account

(C) (A) or (B) above
(D) General Reserve Account

12. 


(A) 

(B) 

(C) 

(D) 

Amount sacrificed by the shareholder are credited to :
(A) Capital Reserve Account
(B) Capital Reduction Account
(C) General Reserve Account
(D) Statement of Profit and Loss (surplus account)

P.T.O.
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13. 

(A) 

(B) 

(C) 

(D) 

Minority interest is calculated-

(A) At the date of consolidated balance - sheet

(B) At the date of taking control of subsidiary company

(C) At the date of closure of accounting year.

(D) None of these

14. 


(A) 

(B) 

(C) 

(D) 

Consolidated financial statement are prepared as per
accounting standard....

(A) 3

(B) 14

(C) 21

(D) 23
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15.         

(A)  
(B)  
(C) 
(D) 
Face value of debentures of subsidiary company held by
holding company is deducted from -
(A) Debentures
(B) Debentures in consolidated balance sheet
(C) Cost of control
(D) Minority Interest

16. 
(A) 


(B)  


(C) 


(D)        


Which of the following  statement is 'true'?
(A) The financial year of holding and subsidiary

company must be the same.
(B) For calculating minority interest there is needed

to distinguish between capitial and revenue
profits of the subsidiary company

(C) A subsidiary company can not purchase share in
the holding company.

(D) A holding company cannot become a subsidiary of
another company

P.T.O.
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17. 

(A) 

(B) 

(C) 

(D) 

Official liquidator is appointed by the

(A) Company

(B) Tribunal

(C) Creditors

(D) Central government

18. 


(A)   

(B) 

(C) 

(D) 

Which of the following cannot file a petition for winding up
of a company

(A) Promoters of company

(B) Contributory

(C) The company

(D) The Registrar
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19. 


(A) 

(B) 

(C) 

(D) 

When winding up of  a company takes place sharehold-
ers are described as-

(A) Legal heirs

(B) Contributory

(C) Creditors

(D) Preferential creditors

20. 

(A)   

(B)  

(C)    

(D)   

In case of liquidation of company first payment is made
in respect of :

(A) Legal expenses

(B) Preferential creditors

(C) Liquidator's remuneration

(D) Liquidation expenses
P.T.O.
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

Section - B



(Very Short Answer Type Questions)

  


Attempt any eight questions in two or three
sentences, each questions is of 02 marks.

1. 

Differentiate between forfeiture of shares and surrender
of shares.

2.          


Give a journal entry for forfeiture of shares issued at pre-
mium

3.    

State any two limitations of the financial statement of the
company

4. 
%

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Calculate the deferred tax laibility if the accounting in-
come is  ̀  8,00,000 taxable income  ̀ . 6,00,000 and the
rate of tax is 30 %

5. 

What fo you mean by dissenting shareholders?

6.  

Name two statutory reserves

7. 

What do you mean by inter company transactions?

8. %

      
    

Holding company purchased 60% shares in subsidiary
company for ` 2,50,000 while issued capital of subsid-
iary company is `2,00,000 and reserve and surplus on
the date of acquisition are ̀ 1,00,000. Calculate the amount
of good will or capital reserve.

9. 

What do you understand by contributory ?

10. 

Distinguish between liquidation and insolvency.

P.T.O.
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

Section - C



( Short Answer Type Questions)

 





Attempt any eight questions from the following
ten questions. Each question except numerical
nature is to be answered in about 75 words. each
question carries 03 marks.

1.  `
 `
 `%
 


 

Rajan Ltd. purchased a building from geeta and com-
pany for  ̀ 50,00,000,  ̀ 10,00,000 was paid by the bank
draft and for the balance due rajan Ltd. issued equity
shares of  `100 each at a premium of 25%

Journalise the above transactions in the books of Rajan
Ltd.
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2.  `
%
`


 


On 1st November 2021 Rishabh limited purchased
`50,000 of its own 8% debentures in the open market at
`98 ex-interest for immediate cancellation interest dates
are 31st March and 30th September. Pass the necessary
journal entries in the book of Rishabh Ltd.

3.  

 `
`  `


           


Gulshan limited has the following balances on 1st April,
2020 :

General Reserve `2, 50,000; Securities Premium re-
serve `25,000, statement of profit and loss `1,70,000

During the year ended 31st march, 2021, it incurred a
loss of  `3,80,000

How would you show these items in the Balance Sheet
and notes to account?

P.T.O.
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4.    

Explain finance costs.

5.         
 `
` `
     
        
 `



Rinki Ltd. is absorbed by khushi Ltd. The consideration
being take over of liabilities of  ̀ 10,000 payment of liqui-
dation expenses  ̀ 5,000, payment of debentures of Rinki
Ltd.  `1,00,000, and allotment of 6 equity shares of 10
each fully paid for every 4 shares in Rinki Ltd. The num-
ber of shares of Rinki Ltd. is  ̀ 2,00,000 of  ̀ 10 fully paid
up. Calculate purchase consideration under accounting
standards - 14

6.   ` `

 `
       


    

Akansha Ltd had `4,00,000 Authorised capital divided
into 4,000 shares of  `100 each. All these shares were
issued and were paid to the extent of `80 per share.
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Having complied with the legal formalities as required
under the companies Act, 2013, the company extin-
guishes the uncalled liability on its shares. Pass
necessary journal entries.

7. 
 

How are unrealised profits calculated? Explain by an
example.

8.          
  

What do you understand by minority shareholder's
interest? Explain its method of calculation.

9. 
 

Describe preferential creditors according to the compa-
nies Act.

10. 


What are the rules regarding the refund of capital to vari-
ous types of shareholders ?

P.T.O.
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

Section - D



(Long Answer Type Questions)

        



All questions are compulsory of this section. Each
question except numerical nature is to be
answered in about 150 words. Each question
carries 05 marks.

1. 
        
 

Explain the provisions of companies Act regarding
redemption of redeemable preference shares. Pass the
necessary Journal entries in this regrad.

Or

    `    % 


(i)        %  
  `
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(ii)      `      
 

(ii)  `
 `
      

Tushar Limited issued nominal value  ̀ 1,00,000 6% De-
bentures as follows:

(i) To sundry persons for cash at 90% nominal value -
`50,000

(ii) To a promoter for  `20,000 of fixed assets taken over
from him in satisfaction of his claim-nominal value
`25,000

(iii) To the bankers as collateral security for a loan of  ̀ 10,000
nominal value  ̀ 25,000

Pass the necessary journal entries and prepare a Bal-
ance Sheet in the books of Tushor Limited.

 
  

(i) 

(ii)  

(iii) 

(iv) 

P.T.O.
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(v)  

(vi) 

(vii) 

(viii) 

(ix)  

(x)  

Under which main headings and subheadings will you
show the following items in the balance sheet of a
company?

(i) Unclaimed dividend.

(ii) Proposed dividend.

(iii) Mining Rights

(iv) Computer and related equipment.

(v) Work - in - Progress

(vi) Goods - in - transit

(vii) Investment in Mutual Funds.

(Viii) Advances received from customers

(ix) Live stock

(x) Losse Tools.
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Or



III II

  `

  

  

  

  

   

  

   

    

   

     



  

   

  

P.T.O.
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From the following balances prepare a statement of profit
and loss of vinita limited for the year ende 31st march,2021
as per schedule III Part - II of the companies Act, 2013,

` In crores

Particulars as at 31st as at 31st

March, 2020 March, 2021

Sales 737.15 1,082.26

Other Income 122.86 216.45

Raw material consumed 747.75 752.79

Salaries and wages 111.32 101.52

Repair and maintenance 38.02 9.51

Administrative expenses 498.50 145.17

Selling and other expenses 166.98 108.61

Financial charges 6.00 22.41

Provision for taxation Nil 13.00

Balance of loss brought

Forward from previous year (810.14) ?

Proposed dividend Nil Nil

Transfer to general reserve Nil Nil
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           



What Journal entries should be passed in the books of a
company that goes into Liquidation for the purpose of
amalgamation?

Or

  

   

  

` `

(I) 

(1) 

(a)  (1) 12,50000

(b)  (2) (1,45,000)

(2) 

  

(3)  

(4)  

(a)  

(b) 

  



P.T.O.
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(II)
(1) 

(a) 
(i) 

 
  

(ii)  
(2) 

(a)  
(b)   
(c)  




 
  `

 
` 
  ` 


 
`

 
` 




  
 


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          
   
(i) `

`
(ii) `

`
(iii) 

`

`%


 

The balance sheet of Divya Limited as at 31st march, 2021
was as follows :

Particulars Note as at 31st as at 31st

No. March 2021 March 2020

(I) EQUITY AND LIABILITIES
(1) Shareholder's fund

(a) Share capital (1) 12,50,000
(b) Reserve and surplus (2) (1,45,000)

(2) Share application money
pending allotment Nil

(3) Non-current liabilities Nil
(4) Current liabilities

(a) Trade payables 30,000
(b) Other current liabilities 20,000

bank overdraft
11,55,000

P.T.O.
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(II) ASSETS
(i) Non-Current Assets
(a) Fixed Assets

(i) Tangible Assets
Leasehold Premiser 1,30,800
Plant and machinery 42,200

(ii) Intangible Assets (Patent) 8,50,000
(2) Current Assets

Inventories 55,000
Trade Receivables 76,500
Cash and cash equivalents 500

11,55,000
Notes to Accounts
Pariculars      as at 31st march 2021
1. Share capital

10,000 Preference shares of `100 10,00,000
each
10,000 Equity shares of `100 each 10,00,000

20,00,000
Issued, subscribed and paid-up capital
`7,500 Preference shares of `100
each, fully paid 7,50,000
`5,000 equity shares of `100 each, 5,00,000
fully paid 12,50,000

(2) Reserve and surplus
Preliminory Expenses (30,000)
Statement of profit and loss (Loss) (1,15,000)

(1,45,000)
Company proved unsuccessful and the following scheme of
reconstruction is passed :
(i) `100 each Preferece shares be reduced to an equal

number of full paid shares of `50 each
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(ii) `100 each Equity shares be reduced to an equal num-
ber of full paid shares of `25 each.

(iii) That the amount thus rendered available for the
reduction of the assets is apportioned as follows:
Preliminary expenses and statement of profit and loss to
be written of entirely  ̀ 30,800 of the leasehold premises
`15,000 off the inventory 20% off the plant and machin-
ery and trade receivables and the balance available to be
written of patents prepare necessary ledger accounts in
the books of divya limited.

4.         


   
 ` `

`  
  
  
  
  

 

  
  
   
  
  
   
  
   

000 5,90,000

P.T.O.
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
(i) 


(ii)  

̀ 
 `

(iii)         
 `        


The details of liabilities and assets of kishor Ltd. and Ashok
Ltd. as at 31st march.2021 are as follows :

Particulars Kishor Ltd. Ashok Ltd.
Liabilities ` `

Equity share of `10 each 10,00,000 4,00,000
General Reserve 60,000 24,000
Statement of Profit and Loss 90,000 30,000
(surplus) creditors 95,000 80,000
Bills Payable 50,000 56,000

 
Assets
Goodwill 60,000 40,000
Land and building 2,00,000 1,20,000
Plant and machinery 5,00,000 3,00,000
Stock 85,000 40,000
Debtors 1,30,000 60,000
Bills Receivable - 20,000
Cash 10,000 10,000
30,000 shares in Ashok Ltd. 3,10,000 -

12,95,000 5,90,000
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The following informations are available :
(i) Kishor Ltd. acquired shares in ashok Ltd. on 1st August,

2020
(ii) The credit balance of Ashok Ltd. On 1st April 2020 were

as follows:
Statement of Profit & Loss `7000 and General Reserve
`20,000

(iii) Kishor Ltd. Revalued plant and machinery of ashok Ltd.
at 3,30,000 and stock at 30,000 at which figures these
assets are to be incorporated in the consolidated bal-
ance sheet.
Prepare consolidated Balance sheet.

Or
       
     



 

` `

 1,000 1,000
  
  
  
 
 
   

  
` 
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`
 ,`  ,` 
`
`


On 31st January, 2022, Compulsory winding-up order was
issued against a company. On that day the following details
were obtained from its account books :

Estimated
Realisble

Value
` `

Cash-in-hand 1,000 1,000
Trade Receivable (Debtors) 40,000 36,000
Building 6,00,000 4,80,000
Furniture 2,00,000 2,00.000
Unsecured creditors 2,00,000
Debentures (Secured on 4,20,000
Building)
Debentures having a floating 1,00,000
charge
Preferential creditors 60,000
Shate capital (32,000 Shares 32,00,000
of  `100 each)
Estimated contingent liability on encashed bills of ̀ 60,000 is
` 60,000 is Estimated amount of other contingent liability of
`1,20,000 is `1,20,000 The company was established on
1st January, 2020 and it suffered loss ̀ 31,39,000.
Prepare statement of affairs and deficiency Account.


